EXAMINATION DEPARTMENT

Date : 28-SEPT-2018

YASHODEO MISHRA

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION : 2	017-2018 CLASS : PHD_A	4C			BRANG	CH : E	CE			S	EMEST	ER / TRI	IMEST	ER :	Pre-	Ph.D			MONTH	OF EXAM :	APRIL-	2018
ROLL NO	NAME	U L	MBA	5001(3)	SAC1	109(3)	SAC2	2005(3)	SAC2	109(3)	SAC5	004(3)	-		-				TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/AC/10051/17	NIRGAMAN BAGE	U	A	24.0	A	24.0	A	24.0	-	-	A+	27.0		-	-	-	-	-	99.0	12.0	8.25	_

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
SAC1109(3)	: SYNTHESIS OF NANOMATERIALS	-	:
SAC2005(3)	: ADVANCED ANALYTICAL TECHNIQUES	-	:
SAC2109(3)	: ENVIRONMENTAL MONITORING & CONTROL	-	:
SAC5004(3)	: LITERATURE REVIEW	-	:
-	:	-	:
-	:	-	:
_		_	

24.0

Α

24.0

A+

Controller of Examinations

15.0

8.40

126.0

Disclaimer

27.0

Disclaimer

PHD/AC/10052/17

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

24.0

A+

27.0

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

Date :	28-SEPT-2018
--------	--------------

SESSION : 2	2017-2018 CLASS : PHD_	AC			BRAN	CH : E	ECE			S	EMEST	ER / TRII	MESTI	ER :	Pre-I	h.D			MONTH (	OF EXAM :	APRIL-2	2018
ROLL NO	NAME	U L	MBA	6001(3)		123(3)		2135(3)	MEE2	2157(3)	MEE5	5004(3)	-					-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/EE/10051/17	NITEESHA KUMARI	U	A	24.0	В	18.0	-	-	A	24.0	B+	21.0	-	-	-	-	-	-	87.0	12.0	7.25	
111D/EE/10031/17	INTEESHA KOWAKI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	87.0	12.0	1.23	-
PHD/EE/10052/17	SOURAV KUMAR SAHU	U	B+	21.0	-	-	A	24.0	A	24.0	A	24.0	-	-	-	-	-	-	93.0	12.0	7.75	
PHD/EE/10032/17	SOURAV KUMAR SAHU	L	-	-	-	-	-	-	-	-	-	-	-	-	_		-	-	93.0	12.0	1.73	-

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MEE2123(3)	: NONLINEAR CONTROL SYSTEMS	-	:
MEE2135(3)	: ADVANCED POWER SYSTEM PROTECTION	-	:
MEE2157(3)	: RENEWABLE SOURCES OF ELECTRICAL ENERGY	-	:
MEE5004(3)	: LITERATUR REVIEW	-	:
-	:	-	:
-	:	-	:
_	•	=	

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date : 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/18) / 2017-2018

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CL	ASS :	PHD_A	\C		BR	RANCH	: ECE	E			Sl	EMESTE	ER / TRI	IMESTE	R : P	re-Ph.D			MONTH	OF EXAM	: APRI	L-2018
ROLL NO	NAME		U L		1007(3) 5002(3)		2011(3) 6001(3)		3005(3) 5004(3)	MBA:	3017(3)	MBA	3021(3)	MBA:	3099(3)	MBA4	4009(3)	MBA	4011(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	FOINTS	CKEDIIS		
PHD/MB/10003/16	VINEET KLIMAD		U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	5.00	Result pending
FHD/MB/10003/10	VINEET KUWAK		L	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	13.0	3.0	3.00	Result peliding
PHD/MB/10004/17	SNEHA KUMARI		U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21.0	3.0	7.00	_
111D/WIB/10004/17	SIVEID KOMPIKI		L		-	-	-	B+	21.0	-		-				-		-	-	21.0	3.0	7.00	
PHD/MB/10005/17	PREETI AAGNEYA		U	-	-	-	-	-	-		-	-	-	-	-	<u> </u>		-	-	24.0	3.0	8.00	-
			L	<u> </u>	-	-	-	A	24.0	-		-		-	-	-		-	-			<u> </u>	
PHD/MB/10006/17	DAISY RANI PRASAD		U	-	-	-	-	- B+	21.0	-	-	-	-	-	-	-		-	-	21.0	3.0	7.00	-
			L	<u> </u>	-	-	-	B+	21.0	_	-	_	-	-	-	-			-				
PHD/MB/10008/17	NIKITA MUKHERJEE		L	╫		<del>-</del>	<u> </u>	B+	21.0		<del>-</del>	<del>-</del>	<del>-</del>	<u> </u>	<u> </u>	-				21.0	3.0	7.00	-
			U	<del>  -</del>	-	-		-	-	-	-	-	-	<u> </u>	<u> </u>	-	-		-				
PHD/MB/10010/17	PRADEEP KUMAR HAZARI		L	i -	-	-	-	Α	24.0	-	-	-	-	-	-	-	-	-	-	24.0	3.0	8.00	-
			U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
PHD/MB/10012/17	POOJA YADAV		L	╫-	-	-	-	A	24.0	-	_	_	_	-	<u> </u>	-	_	-	-	24.0	3.0	8.00	-
			U	<del>  -</del>	-	A	24.0	A+	27.0	-	-	-	-	-	-	-	-	A	24.0				
PHD/MB/10051/17	RASHMI SINHA		L	F	0.0	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	99.0	15.0	6.60	-
PHD/MB/10052/17	CLINIT DD A C A D		U	-	-	B+	21.0	-	-	-	-	-	-	-	-	A	24.0	Ex	30.0	102.0	12.0	8.50	
PHD/MB/10032/17	SUNII PRASAD		L	-	-	A+	27.0	-	-	-	-	-	-	-	-	-	-	-	-	102.0	12.0	8.30	-
PHD/MB/10053/17	KUMAR GAURAV		U	-	-	A	24.0	-	-	-	-	A	24.0	-	-	A	24.0	-	-	96.0	12.0	8.00	_
1112,1112,110033,17	To the director to		L	<u> </u>	-	Α	24.0	-		-		-		<u> - </u>	-	-		-	-	75.0	12.0	0.00	
PHD/MB/10055/17	NIMESH SHUKLA		U	A+	27.0	-	-	-	-	A	24.0	-	-	A	24.0	-		-	-	126.0	15.0	8.40	-
			L	-	-	B+	21.0	Ex	30.0	-	-	-	-	-	-	-		-	-				
PHD/MB/10056/17	SUBHASISH KUMAR SARK	AR	U	A	24.0	- D	18.0	- A -	27.0	A	24.0	-	-	A	24.0	-	-	-	-	117.0	15.0	7.80	-
			L		-	В	18.0	A+	27.0	-	_	-			-	-	-	-	-				

MBA1007(3) : MARKETING MANAGEMENT MBA5002(3) : PROJECT BASED LITERATURE REVIEW

MBA2011(3) : STRATEGIC MANAGEMENT MBA6001(3) : RESEARCH METHODOLOGY MBA3005(3) : CORPORATE FINANCE MBA5004(3) : LITERATURE REVIEW

MBA3017(3) : CONSUMER BEHAVIOUR

MBA3021(3) : INTERNATIONAL MARKETING : ADVERTISING AND MARKETING COMMUNICATION MBA3099(3)

MBA4009(3) : BUSINESS ETHICS & CORPORATE GOVERNANCE MBA4011(3) : ENTREPRENEURSHIP

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Controller of Examinations

EXAMINATION DEPARTMENT

Date: 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/18) 2017-2018

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CLASS :	PHD_A	С		BRA	ANCH :	ECE				SEN	MESTER	/ TRIM	IESTER	: Pre-	Ph.D			MONTH OF	EXAM : A	APRIL-20	018
ROLL NO	NAME	U	MBA6	5001(3)		2001(3) 5004(3)		2011(3)	MME	2013(4)	MME	2023(3)	MME	22071(3)	MME	2073(3)	MME2	2075(4)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
		L	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS		
PHD/ME/10001/17	GOUR AV KUMAR	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27.0	3.0	9.00	_
111D/WIE/10001/17	GOORAV KUWAK	L	A+	27.0	-	-	-	-	-	-	-	-	-	_	-				27.0	3.0	7.00	
PHD/ME/10002/17	S.M. MOZAMMIL HASNAIN	U	-	-	-	-	A	24.0	-	-	-	-	-	-	-		-		24.0	3.0	8.00	_
		L	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	-							
PHD/ME/10003/17	MANISH KUMAR	U		-	-	-	-	-	-	-	В	18.0	-	-	-	-	-		18.0	3.0	6.00	_
		L	-	-	-	-		-	-	-	-	-	-	-   -	-	-	-					
PHD/ME/10005/17	ASIM AHMAD	L		-	-		A	24.0				-		<u> </u>	<u> </u>				24.0	3.0	8.00	-
		U	A	24.0	В	18.0	B+	21.0	-	-	_	-	-	-	-	-	-	_				
PHD/ME/10051/17	MD ATIQUR RAHMAN	L	-	-	B+	21.0	-	-	-	-	-	-	-	i -	-	-	-	-	84.0	12.0	7.00	-
PHD/ME/10052/17	CHIKESH RANJAN	U	A	24.0	-	-	-	-	-	-	-	-	-	-	B+	21.0	A	32.0	98.0	13.0	7.54	
PHD/ME/10032/17	CHIKESH KANJAN	L	-	-	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	98.0	13.0	7.34	-
PHD/ME/10053/17	MUKESH KUMAR	U	B+	21.0	В	18.0	-	-	A	32.0	-	-	-	-	-	-	-	-	71.0	10.0	7.10	_
1115/1115/10033/17	MOREST NOW IN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		71.0	10.0	7.10	
PHD/ME/10055/17	RAVI SHASTRI	U	A	24.0	-	-	-	-	-	-	-	-	В	18.0	B+	21.0	-	-	63.0	9.0	7.00	_
11110/11111/110053/11/	ICT TO SIMOTRI	L	-	-	-	-	-	-	-	-	-	-	-	-	-				05.0	7.0	/.00	
PHD/ME/10056/17	SUJIT KUMAR	U	В	18.0	В	18.0	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	81.0	12.0	6.75	_
		L	-	-	B+	21.0	A	24.0	-	-	-	-	-	-	-							

: RESEARCH METHODOLOGY : MECHANICS OF ROBOTIC MANIPULATOR MBA6001(3) MME2083(3) MME2001(3) : ADVANCED THERMODYNAMICS MME5004(3) : LITERATURE REVIEW

GAS TURBINE & JET PROPULSION MME2011(3) TET2007(3) : ADVANCED ENERGY SYSTEM

MME2013(4) REFRIGERATION & AIR CONDITIONING MME2023(3) COMPUTATIONAL FLUID DYNAMICS

MME2071(3) ADVANCED MECHANICAL ENGINEERING DESIGN COMPUTER AIDED DESIGN OF MECHANICAL SYSTEM MME2073(3)

MME2075(4) : ENGINEERING DESIGN METHODOLOGY

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Date : 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION : 2	017-2018 CLASS : PHD_A	4C			BRANC	H : EC	Е			SEN	/IESTE	R/T	RIMES	TER	: Pre	-Ph.D			MONTH	OF EXAM :	APRIL-	2018
ROLL NO	NAME	U L		6001(3)		2033(3)		2035(3)		5003(3) -	-				-		- -		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	P1.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/PH/10051/17	ROJALINI SAMANTA	L	- B+	21.0	A+ -	27.0	- A	24.0	A+ -	27.0	-	-	-   -	-	-	-	-	<u> </u>	99.0	12.0	8.25	-

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MPH2033(3)	: PHARMACOLOGICAL & TOXI SCR.ME	-	:
MPH2035(3)	: PRINCIPLES OF DRUG DISCOVERY	-	:
MPS5003(3)	: STRATERGIES FOR DESIGNING ANTI FLAVIVIRAL AGENTS	-	:
-	;	-	:
-		-	:
-		-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

Date :	28-SEPT-2018
--------	--------------

	SESSION : 20	017-2018 CLASS : PHD_4	AC			BRANC	Н : ЕС	E			SE	MESTI	ER / T	RIMES	STER	: Pro	e-Ph.D	)		MONTH	OF EXAM :	APRIL-	2018
	ROLL NO	NAME	U L		6001(3)		2005(4)		2017(3)	MPE50		-				-	-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
IL				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
ſ	PHD/PE/10051/17	SAROJ KUMAR	U	A	24.0	A	32.0	A	24.0	F	0.0	-	-	-	-	-	-	-	-	80.0	13.0	6.15	_
L	111D/1 E/10031/17	SAKOJ KUMAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80.0	15.0	0.13	_

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MPE2005(4)	: SOFT COMPUTING IN MANUFACTURING AUTOMATION	-	:
MPE2017(3)	: ADVANCED MANFACTURING PROCESS	-	:
MPE5004(3)	: LITERATURE REVIEW	-	:
-	:	-	
-		-	:
-	:	-	:
_		_	

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CLASS : PHI	D_AC	2		BRA	NCH :	ECE				SE	MESTE	R / TRI	MESTEI	R : Pr	e-Ph.D			MONTH O	FEXAM:	APRIL-2	018
ROLL NO	NAME	U L	MBA2	2011(3)	MBA	6001(3)	SGI20	005(3)	TCS2	021(3)	TIS2	031(3)	TRS2	023(3)	TRS20	041(3)	TRS5	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/RS/10051/17	ADUINAV	U	-	-	F	0.0	F	0.0	-	-	-	-	F	0.0	F	0.0	F	0.0	00.0	15.0	0.00	
11110/183/10031/17	ABIIINAV	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	13.0	0.00	_
		T.T.	_	24.0	Α	24.0			Α	24.0	Α.	27.0					A .	27.0				

MBA2011(3)	: STRATEGIC MANAGEMENT	-	:
MBA6001(3)	: RESEARCH METHODOLOGY	-	:
SGI2005(3)	: GEOGRAPHICS INFORMATION SCIENCE	-	:
TCS2021(3)	: PATTERN RECOGNITION & IMAGE ANALYSIS	-	:
TIS2031(3)	: DATA COMPRESSION & DATA HIDING	-	:
TRS2023(3)	: DIGITAL IMAGE PROCESSING	-	:
TRS2041(3)	: REMOTE SENSING IN HYDROLOGY AND WATER RESOURCES	-	:
TRS5002(3)	: PROJECT BASED ON LITERATURE REVIEW	-	

Controller of Examinations

15.0

8.40

126.0

Disclaimer

Disclaimer

PHD/RS/10053/17 PUJA JHA

EXAMINATION DEPARTMENT

Date : 28-SEPT-2018

18.0

3.0

6.00

MD. GULAM SARWAR

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION : 2017	7-2018 CLASS : PHD_AC			BRA	NCH	: EC	Е				SE	MEST	ER / T	RIMES	STER	: Pre	-Ph.D		MON	TH OF EXAM	: APRII	-2018
ROLL NO	NAME	U L	MEC	1011(3)		-	-	-		-				-	-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/SER/10051/16	PAWAN KUMAR KARAN	U	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	18.0	3.0	6.00	_
111D/3ER/10031/10	I A WAN KUMAK KAKAN	L	_	_	_	_	_	_	I -	_	_		_	I -	Π.				10.0	] 3.0	0.00	_

MEC1011(3)	: PROBABILITY MODELS & STOCHASTIC PROCESSES	-	:	
-		-		U TONE OF THE STATE OF THE STAT
-	:	-	:	Acres
-	:	-	:	Jandey.
-	:	-	:	<b>—</b>
-	:	-		Controller of Examinations
-	:	-		

Disclaimer

Disclaimer

PHD/SER/10053/16

EXAMINATION DEPARTMENT

Date : 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CLASS :	PHD_A	C		BR	ANCH	: EC	E				SEMES	STER /	ΓRIMES	TER :	Pre-Ph	ı.D		MONTE	H OF EXAM	: APR	IL-2018
ROLL NO	NAME	U L		105(3)		109(3)		009(4)	SAP4	013(4)	SAP4	4015(4)		031(4)	TNT2	101(4)	MBA	5001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DUD/A D/10001/17	RANJAN KUMAR SINGH	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27.0	3.0	9.00	
FHD/AF/10001/1/	KANJAN KUWAK SINGH	L	A+	27.0	-	-	-	-	-	-	-	-	-	-	-		-	-	27.0	3.0	9.00	_
DLID / A D/10004/12	CONALIDIOWAC	U	-	-	-	-	-	-	-	-	-	-	-	-	D	16.0	-	-	16.0	4.0	4.00	D 14 45
PHD/AP/10004/13	SONALI BISWAS	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	16.0	4.0	4.00	Result pending
DIID / A D/10051/17	DOLLY WEDWA	U	A+	27.0	Ex	30.0	-	-	-	-	-	-	-	- 1	-	-	A+	27.0	111.0	12.0	0.25	
PHD/AP/10051/17	ROLLY VERMA	L	A+	27.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	111.0	12.0	9.25	-
DIID/A D/10052/17	DITTO A LIVINGHIMA HA	U	-	-	-	-	A	32.0	Α	32.0	-	-	-	-	-	-	A	24.0	100.0	14.0	7.70	
PHD/AP/10052/17	DHIRAJ KUSHVAHA	L	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	109.0	14.0	7.79	-
DUD / A D/10052/17	DIDEN COM	U	-	-	-	-	B+	28.0	B+	28.0	-	-	-	-	-	-	A	24.0	104.0	140	7.42	
PHD/AP/10053/17	BIBEK SONU	L	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	104.0	14.0	7.43	-
DIID / A D/1005 4/17	DAVEGU DDAGAD	U	-	-	-	-	-	-	-	-	В	24.0	В	24.0	-	-	В	18.0	00.0	140	( 12	
PHD/AP/10054/17	RAKESH PRASAD				=									=	=	=		i	90.0	14.0	6.43	-

CA PO105(2)	A TOMIC MOLECULAR & MODERN SPECTROSCONY	TNITE 500 4(2)	LITED ATLIDE DEVIEW
SAP2105(3)	: ATOMIC.MOLECULAR & MODERN SPECTROSCOPY	TNT5004(3)	: LITERATURE REVIEW
SAP2109(3)	: CONDENSED MATTER PHYSICS	-	:
SAP4009(4)	: PHYSICS OF SOLID STATE DEVICES	-	:
SAP4013(4)	: NONCONVENTIONAL ENERGY MATERIALS	-	:
SAP4015(4)	: PHYSICS OF THIN FILMS	-	:
SAP4031(4)	: PHOTONIC AND OPTOELECTRONICS DEVICE	-	:
TNT2101(4)	: CHARACTERIZATION OF NANOSTRUCTURES	-	:
MBA6001(3)	· RESEARCH METHODOLOGY	_	

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18) 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018 Date : 28-SEPT-2018

SESSION :	2017-2018	CLASS :	PHD_/	AC .		BF	RANCH	: EC	Е			5	EMEST	ER / TI	RIMESTI	ER :	Pre-Ph.E	)		MONTH	OF EXAM	: APR	IL-2018
			U	DBT1	.001(3)	DBT1	002(3)	DBT2	2001(3)	DBT2	2002(3)	DBT2	003(3)	DBT	2006(3)	DBT2	2011(3)	DBT2	2015(3)				
ROLL NO	NAME		L	DBT2	016(3)	DBT2	2019(3)	DBT	2022(3)	DBT5	002(3)	MBA	001(3)	MEE	2101(4)	MEE2	2115(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/BE/10051/17	SHIKHA AGARWAL		U	Ex	30.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	120.0	16.0	7.50	Result pending
			L	-	-	-	-	-	-	A	24.0	A+	27.0	В	24.0	С	15.0	-	-				
PHD/BE/10052/17	SHREYA ANAND		U	-	-		-	Ex	30.0	B+	21.0	-	-	-		-				105.0	12.0	8.75	_ '
			L	-	-	-	-		-	Ex	30.0	Α	24.0		-	-							
PHD/BE/10053/17	ANITA KUMARI		U	-	-	A	24.0	-	-	-	-	-	-	A	24.0	-		-		120.0	15.0	8.00	_ '
			L	A+	27.0	-	-		-	Α	24.0	B+	21.0		-								
PHD/BE/10054/17	ARCHITA GUPTA		U	<u> - </u>	-	A+	27.0	-	-	-	-	-	-		-	-	-			108.0	12.0	9.00	-
			L	-	-	A+	27.0	-	-	Ex	30.0	A	24.0	-	-	-		_					
PHD/BE/10055/17	MANJARI S K VENKATA	A	U	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-		-	102.0	12.0	8.50	_
			L	-	-	-	-	Α	24.0	A+	27.0	A+	27.0		-	-	-	-	-				
PHD/BE/10056/17	SUNANDITA SARDAR		U	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	В	18.0	96.0	15.0	6.40	_
			L	A	24.0	-	-	-	-	Α	24.0	С	15.0	-	-	-						<u> </u>	
PHD/BE/10057/17	PRIYA KUMARI		U	-	-	-	-	-	-	-	-	Α	24.0	-	-	A	24.0	-	-	126.0	15.0	8.40	_
			L	A+	27.0	-	-	-	-	A+	27.0	A	24.0	-	-	-	-	-	-				1
PHD/BE/10058/17	UZMA AFREEN		U	-	-	A	24.0	-	-	-	-	-	-	-	-	-	-	B+	21.0	120.0	15.0	8.00	_
111D/BE/10036/17	OZIVIA AI KEEN		L	A+	27.0	-	-	-	-	A+	27.0	B+	21.0	-	-	-	-	-	-	120.0	13.0	0.00	
PHD/BE/10059/17	PAVAL GAGGAR		U	-	-	Ex	30.0	-	-	-	-	-	-	-	-	-	-	A+	27.0	138.0	15.0	9.20	_
1110/00/10039/17	TATAL GAGGAR		L	Ex	30.0	-	-	-	-	A+	27.0	A	24.0	-	-	-	-	-	-	136.0	13.0	7.20	

DBT1001(3)	: MODERN METHODS OF INSTRUMENTATION	DBT2016(3)	: FUNCTIONAL GENOMICS & PROTEOMICS
DBT1002(3)	: TECHNIQUES IN MOLECULAR BIOLOGY & GENETIC ENGG.	DBT2019(3)	: BIOPOLYMER CHARACTERIZATION
DBT2001(3)	: PROCESS BIOTECHNOLOGY & DOWNSTREAM PROCESSING	DBT2022(3)	: GENERAL MICROBIOLOGY
DBT2002(3)	: BIOPROCESS ENGINEERING	DBT5002(3)	: LITERATURE REVIEW
DBT2003(3)	: ENZYME TECHNOLOGY	MBA6001(3)	: RESEARCH METHODOLOGY
DBT2006(3)	: PLANT BIOTECHNOLOGY	MEE2101(4)	: SOFT COMPUTING TECHNIQUES
DBT2011(3)	: BIOSTATISTICS & BIOINFORMATICS	MEE2115(3)	: EMBEDDED SYSTEM & APPLICATIONS
DBT2015(3)	: PLANT MICROBIAL INTERACTION	-	

Controller of Examinations

Disclaimer

EXAMINATION DEPARTMENT

Date: 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/18) / 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION : 2	2017-2018 CLASS : PHD_	AC			BRA	ANCH	: ECE				SE	MESTE	R / TRII	MESTEI	R : F	re-Ph.D			MONTH	OF EXAM	: APR	IL-2018
ROLL NO	NAME	U L		5001(3) 011(3)		1113(3) 2017(3)		2105(3) 6002(3)	MCE2	2127(3)	MCL2	2029(3)	SAC2	2109(3)	TES1	005(4)	TES2	003(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	TORVIS	CKLDIIS		
PHD/CFF/10004/17	BANDANA MAHTO	U	D	12.0	D	12.0	-	-	-	-	-	-	-	-	D	16.0	-	-	67.0	13.0	5.15	Result pending
TTIB/CEE/TOOUT/T/	Brit William III	L	-	-	-	-	A+	27.0	-	-	-	-	-	-	-	-	-	-	07.0	13.0	3.13	resuit penamg
PHD/CFF/10051/17	ABHISHEK KUMAR	U	Α	24.0	-	-	-	-	-	-	-	-	A+	27.0	-	-	A+	27.0	132.0	15.0	8.80	_
THE/CEE/10031/17	ABHOHER ROWAR	L	Α	24.0	-	-	Ex	30.0	-	-	-	-	-	-	-		-		132.0	13.0	0.00	
PHD/CEE/10052/17	BIBHAKAR KUMAR SINGH	U	Α	24.0	-	-	B+	21.0	-	-	-	-	-	-	-		-	-	93.0	12.0	7.75	_
111D/CEE/10032/17	BIBITAL IK KOMPIK SINGIT	L	-	-	B+	21.0	A+	27.0	-	-	-	-	-	-	-	-	-	-	75.0	12.0	7.73	
PHD/CEE/10053/17	SAGAR SARANGI	U	B+	21.0	-	-	-	-	-	-	A	24.0	-	-	-	-	A	24.0	69.0	9.0	7.67	_
111D/CEE/10033/17	SAGAR SARAIVOI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	07.0	7.0	7.07	_
PHD/CEE/10054/17	AMIT GOLDER	U	Α	24.0	-	-	-	-	A+	27.0	-	-	-	-			A	24.0	75.0	9.0	8.33	_
111D/CEE/10034/17	AWIT GOLDEK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75.0	7.0	0.55	
PHD/CEE/10055/17	SHII DI BHI IINVAN	U	-	-	-	-	-	-	-	-	-	-	-	-	-		-		00.0	0.0	0.00	_
111D/CEE/10033/17	SHLITBROWLAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	0.0	0.00	

MBA6001(3) : RESEARCH METHODOLOGY TES2011(3) MCE1113(3) : FLOWS THROUGH PAROUS TES2017(3) EARTH & EARTH RETAINING STRUCTURES MCE2105(3) TES6002(3) MCE2127(3) : MINING ENGINEERING

MCL2029(3) : COMPOSITE MATERIALS SAC2109(3) : ENVIRONMENTAL MONITORING & CONTROL : WATER SUPPLY & WASTE WATER MANAGEMENT TES1005(4)

TES2003(3) : EIA LAWS & PROTOCOLS : INDUSTRIAL POLLUTION & CONTROL

WASTE MANAGEMENT

: LITERATURE REVIEW

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date : 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION : 201	7-2018 CLASS : PHD_AC	2		В	RANCH	: ECE				SEM	ESTE	R / TR	IMES	ΓER	: Pre	-Ph.D			MONTH	OF EXAM :	APRIL-	2018
ROLL NO	NAME	U L	MBA	6001(3)	MCL	1019(3)	MCL	5002(3)	SAF2	017(3)		-		-		-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/CHE/10051/17	SREYAJIT SAHA	U	A	24.0	A	24.0	A+	27.0	A+	27.0	_	-	-	-	-	-	-	<u> </u>	102.0	12.0	8.50	_

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MCL1019(3)	: INSTRUMENTAL ANALYSIS	-	:
MCL5002(3)	: LITERATURE REVIEW	-	:
SAF2017(3)	: NUTRACEUTICALS & HEALTH FOODS	-	:
-	:	=	:
-	:	-	:
-	:	-	:
_		_	

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/18) 2017-2018

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CLASS : PH	D_AC	2		BRA	NCH :	ECE				SE	MESTEI	R / TRIM	MESTE	R : P	re-Ph.D			MONTH O	F EXAM :	APRIL-2	.018
			MBA	6001(3)	TCS2	001(4)	TCS2	021(3)	TCS5	002(3)	TIS1	019(3)	TIS20	017(3)	TIS2	121(3)	TIT1	015(3)				
ROLL NO	NAME	L	TIT10	027(3)	TIT1	033(3)	TIT1	035(3)	TIT2	003(3)	TIT2	2013(3)	TIT2	025(3)	TIT2	027(3)		-	TOTAL CREDIT POINTS	CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		TOTAL CREDITS         SGPA           13.0         7.15           12.0         8.50           13.0         7.15           12.0         8.50           12.0         7.75           12.0         8.00           13.0         6.69           12.0         8.25           12.0         8.00           12.0         6.50		
PHD/CS/10060/17	OUAZI WARISHA AHMED	U	A	24.0	В	24.0	-	-	A	24.0	-	-	-	-	-	-	-	-	93.0	13.0	7 15	_
1115/05/10000/17	QOTEL WINDSHITTHINED	L	-	-	-	-	-	-	-	-	B+	21.0	-	-	-	-	-	-	75.0	13.0	7.15	
PHD/CS/10061/17	RAKESH RAJA	U	Α	24.0	-	-	-	-	A+	27.0	-	-	-	-	-	-	A+	27.0	102.0	12.0	8.50	_
		L	Α	24.0	-	-	-	-	-	-	-	-	-				-	-				
PHD/CS/10062/17	SANDEEP CHOUDHARY	U	B+	21.0	В	24.0	-		A+	27.0	-	-	-	-	-	-	-	-	93.0	13.0	7.15	-
		L	-	-		-	-		-	-	B+	21.0	-	-	-	-	-	-				
PHD/CS/10063/17	KESHAV SINHA	U	A	24.0	-	-	-		A+	27.0	A+	27.0	-	-	-	-	-	-	102.0	12.0	8.50	-
		L	-	- 24.0	-	-	-	24.0	-	24.0	Α	24.0	-	-	-	-	-	-				
PHD/CS/10064/17	RASHMI KUMARI	1	A B+	24.0	-	-	A	24.0	A	24.0	_	<u> </u>	-	-	-	-	-	-	93.0	12.0	7.75	-
		U	A	24.0					A+	27.0	_	<u> </u>	_									
PHD/CS/10065/17	MAMATA PANDEY	L	B+	21.0	A	24.0	-	_	-	-	_	-		_	-	-	-		96.0	12.0	8.00	-
		П	В	18.0	В	24.0	_		A+	27.0	_	<u> </u>	_	_	_							
PHD/CS/10066/17	ANVITA	ī		-		21.0			В	18.0	_			_					87.0	13.0	6.69	-
		U	A	24.0	-		-	_	A+	27.0	Α	24.0	A	24.0	-	-	-					
PHD/CS/10067/17	NAYANCY	L	-	-	-	-	-	_	-	-	-	-	-	-	-	-	-	_	99.0	12.0	8.25	-
		U	B+	21.0	-	-	A	24.0	A+	27.0	-	-	-	-	-	-	-	-				
PHD/CS/10068/17	AMAN SINGH	L	Α	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	96.0	12.0	8.00	-
DUD/CG/100/C/17	GALEFM CANATAN WITH D	U	С	15.0	-	-	-	-	A+	27.0	-	-	-	-	-	-	-		70.0	12.0	(50	
PHD/CS/10069/17	SALEEM SANATAN KUJUR	L	-	-	В	18.0	-	-	-	-	-	-	В	18.0	-	-	-	-	78.0	12.0	6.50	-
PHD/CS/10070/17	ANISHA MUKHERJEE	U	B+	21.0	-	-	-	-	A+	27.0	-	-	-	-	-	-	-	-	81.0	12.0	6.75	_
1110/C3/100/0/1/	ANISHA WUKHEKJEE	L	С	15.0	-	-	-	-	-	-	-	-	-	-	В	18.0	-	-	01.0	12.0	0.73	·
PHD/CS/10071/17	MANORAMA	U	B+	21.0	В	24.0	-	-	A+	27.0	-	-	-	-	A	24.0	-	-	120.0	16.0	7.50	_
PHD/CS/100/1/1/ M		L	-	-	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	120.0	15.0	,.50	

MBA6001(3) : RESEARCH METHODOLOGY TIT1027(3) : DATA MINING AND WAREHOUSING

TCS2001(4) : DATA & COMPUTER COMMUNICATION NETWORKS TIT1033(3) : SOFT COMPUTING TCS2021(3) : PATTERN RECOGNITION & IMAGE ANALYSIS TIT1035(3) : BIG DATA ANALYSIS TCS5002(3) : LITERATURE REVIEW TIT2003(3) : COMMUNICATION THEORY TIS1019(3) : CRYPTOGRAPHY & NETWORK SECURITY TIT2013(3) : CLOUD COMPUTING TIS2017(3) : INTRUSION DETECTION TIT2025(3) : PARALLEL COMPUTING

TIS2121(3) : BIOMETRIC SECURITY : NATURAL LANGUAGE PROCESSING TIT2027(3) TIT1015(3) : CRYPTOGRAPHY

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

Controller of Examinations

EXAMINATION DEPARTMENT

Date: 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18) / 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CLASS :	PHD_A	AC		BR	RANCH	: ECI	Ξ	SEMESTER / TRIMES						R : I	Pre-Ph.D			MONTH	IL-2018				
ROLL NO	NAME			MBA6001(3) TIT1005(3)		7301(3)		7305(3)		7307(3)		7309(3)		TCS2021(3) TIT2117(3)		002(3)	TIT1	003(4)	TOTAL CREDIT	TOTAL	SGPA	REMARKS		
			GR.	PT.	GR. PT.		GR. PT.		TIT1035(3)  GR. PT.		GR. PT.		GR. PT.		GR.	PT.	GR. PT.		POINTS	CREDITS				
PHD/CS/10002/17	ANSHIIMAN	U	D	12.0	С	15.0	D	12.0	-	-	D	12.0	-	-	-	-	-	-	51.0	12.0	1 25	Desult pending		
111D/C3/10002/17	ANSITOMAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	31.0	12.0	4.23	Result pending		
DUD/CS/10051/17	PRAMOD KUMAR	U	В	18.0	-	-	-	-	-	-	-	-	-	-	B+	21.0	D	16.0	73.0	13.0	5.62			
111D/CS/10031/17	I KAWOD KUWAK	L	-	-	-	-	-	-	-	-	-	-	В	18.0	-	-		-	73.0	13.0	3.02	-		
PHD/CS/10052/17	DEVESH KUMAR UPADHYAY	U	С	15.0	-	-	-	-	-	-	-	-	-	-	A+	27.0		-	78.0	78.0	78.0	12.0	6.50	_
1115/05/10032/17	DE VESIT ROMAN OTABILITA	L	В	18.0	-	-	В	18.0	-	-	-	-	-	-	-	-		-	70.0	12.0	0.50			
PHD/CS/10053/17	D/CS/10053/17 RAGINI KUMARI	U	F	0.0	-		-	-		-	-		-	-	F	0.0	<u> </u>	-	12.0	12.0	1.00	_		
		L	-	-	-	-	-	-	D	12.0	F	0.0	-	-		-	<u> </u>	-			1			
PHD/CS/10054/17	ANKUR PRIYADARSHI	U	A	24.0	-	-	-	-	-	-	-	-	Α	24.0	A+	27.0	$\sqsubseteq$	-	99.0	12.0	8.25	_		
		L	-	-	A	24.0	-	-	-	-		-	-	-		-	<u> </u>	-				<u> </u>		
PHD/CS/10055/17	ANJALI KUMARI	U	A	24.0	-	-			-	-	-	-	-	-	A+	27.0	<u> </u>		108.0	15.0	7.20	-		
		L	В	18.0	В	18.0	-	-	-	-		-	B+	21.0	-	-	<u> </u>	-						
PHD/CS/10056/17	MD NAYER	U	В	18.0	-	-	-	-	-	-	-	-	-	-	A	24.0		-	72.0	12.0	6.00	-		
		L	-		С	15.0	С	15.0	-	-	-	-	-	-		-								
PHD/CS/10057/17	UMANG GUPTA	U	A	24.0	-	-	-	-	-	-	-		A+	27.0	A+	27.0	<u> </u>	-	117.0	15.0	7.80	_		
	3	L	-		В	18.0	B+	21.0	-		-	-	-	-		-	<u> </u>		117.0		7.00			
PHD/CS/10058/17	RANI KUMARI	U	A	24.0	-		-	-	Α	24.0	-		-	-	A	24.0	<u> </u>		96.0	12.0	8.00	0 -		
111D/CS/10038/1/	KANI KUWAKI		-	-	A	24.0	-	-	-	-	-	-	-	-	-	-	-		200	-3.0				

MBA6001(3)	: RESEARCH METHODOLOGY	TIT1005(3)	: COMPUTATIONAL INTELLIGENCE
MCA7301(3)	: NATURAL LANGUAGE PROCESSING	TIT1027(3)	: DATA MINING AND WAREHOUSING

18.0

MCA7305(3) : ARTIFICIAL INTELLIGENCE TIT1033(3) : SOFT COMPUTING : IMAGE PROCESSING TIT1035(3) MCA7307(3) BIG DATA ANALYSIS MCA7309(3) : SOFT COMPUTING TIT2013(3) CLOUD COMPUTING : PATTERN RECOGNITION & IMAGE ANALYSIS TCS2021(3) TIT2117(3) SOFTWARE METRICS TCS5002(3) : LITERATURE REVIEW

TIT1003(4) : ADVANCED DATABASE

PHD/CS/10059/17

CHANDANA KUMARI

Controller of Examinations

15.0

6.60

99.0

Disclaimer

15.0

EXAMINATION DEPARTMENT

Date: 28-SEPT-2018

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/18) / 2017-2018

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2018

SESSION :	2017-2018 CL	ASS : Pl	HD_A	кС		BI	RANCH	: ECI	Е			S	EMESTI	ER / TR	IMESTE	R :	Pre-Ph.D			MONTH	OF EXAM	: APRI	IL-2018
				MBA6001(3)		MEC	MEC1005(3) MEC2029(4)		1019(3)	MEC:	1021(3)	MEC	103(3)	MEC1123(3)		MEC1125(3)		MEC2015(3)					
ROLL NO	ROLL NO NAME		L	MEC2	MEC2017(3)				MEC2171(3)		MEC5004(3)		MEE2123(3)		TCS2001(4)		025(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/FC/10052/17	NISHANT SHARAN		U	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	A	24.0	99.0	12.0	8.25	_
11115/12/2/10032/17	THISTITUTE STITUTE IN		L	A	24.0	-	-	-	-	A+	27.0	-	-	-	-	-	-	-	-	77.0	12.0	0.23	
PHD/EC/10053/17	ASHISH RAI		U	B+	21.0	Α	24.0	-	-	-	-	-	-	-	-	_	-	-	-	87.0	12.0	7.25	_
111D/EC/10033/17	ASITISTI KAJ		L	-	-	-	-	-	-	Α	24.0	В	18.0	-	-	-	-	-	-	87.0	12.0	1.23	
PHD/EC/10054/17	RAVI CHANDRA		U	A	24.0	-	-	-	-	-	-	-	-	B+	21.0		-	-	-	78.0	12.0	6.50	_
111D/EC/10034/17	IKA VI CIIANDKA		L	-	-	-	-	В	18.0	С	15.0	-	-	-	-	-	-	-	-	78.0	12.0	0.50	- I
PHD/EC/10055/17	NEEL MANI RANGESH		U	С	15.0	-	-	-	-	-	-	-	-	-	-	D	12.0	-	-	89.0	16.0	5.56	Result pending
111D/EC/10033/17	NEEL MANIKANGESII		L	-	-	-	-	-	-	A+	27.0	-	-	С	20.0	С	15.0	-	-	87.0	10.0	3.30	Result pending
PHD/EC/10056/17	KW NEESHII		U	B+	21.0	-	-	-	-	A+	27.0	-	-	-	-		-	-	-	103.0	13.0	7.92	_
111D/LC/10030/17	KWI NEESITO		L	-	-	B+	28.0	-	-	A+	27.0	-	-	-	-	_	-	-	-	103.0	13.0	1.92	-
PHD/FC/10057/17	VAMSIDHAR GALI	JAMSIDHAD CALL	U	A	24.0	-	-	B+	21.0	-	-	A	24.0	-	-	-	-	-	-	69.0	12.0	5.75	_
11110/12/1005//17	VAMSIDHAR GALI		L	-	-	-	-	-	-	F	0.0	-	-	-	-	-	-	-	-	07.0	12.0	3.73	

MBA6001(3) : RESEARCH METHODOLOGY MEC2017(3) : OPTICAL WIRELESS COMMUNICATION

MEC1005(3) : ELECTROMAGNETIC INTERFERENCE & ELECTROMAGNETIC MEC2029(4) : RF CIRCUIT DESIGN MICROWAVE MEASURNMENT AND MATERIAL MEC1019(3) : COMPATIBILITY MEC2171(3)

MEC1021(3) : MICROELECTRONIC DEV. & CIRCUITS CHARACTERISATION MEC5004(3) MEC1103(3) : ANTENNAS & DIVERSITY MEE2123(3) : LITERATURE REVIEW

MEC1123(3) : VLSI DESIGN & APPLICATION TCS2001(4) : NONLINEAR CONTROL SYSTEMS WIRELESS COMMUNICATION : DATA & COMPUTER COMMUNICATION NETWORKS MEC1125(3) TCS2025(3)

: INFORMATION THEORY & CODING MOBILE COMPUTING MEC2015(3)

OPTICAL NETWORKING AND DWDM

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (SP/18)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of APRIL-2018

Date: 28-S	EPT-2018
------------	----------

SESSION : 2	2017-2018 CLASS : PHD_	AC			BRAN	CH : E	CE			SI	EMESTI	ER / TRIN	<i>I</i> ESTE	R :	Pre-l	Ph.D			MONTH (	OF EXAM :	APRIL-	2018
ROLL NO	ROLL NO NAME		MBA6001(3)		MEC1051(3)		MEC2001(3)		MEC5004(3)		MEE1105(3)		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/EC/10051/17	RASHES RANJAN	U	A+	27.0	A	24.0	С	15.0	D	12.0	-	-		-	-	-	-	-	78.0	12.0	6.50	
111D/EC/10031/17	RASHES KANJAN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	78.0	12.0	0.50	-
PHD/EC/10058/17	PHD/EC/10058/17 SANJIB KUMAR PAL		-	-	-	-	B+	21.0	-	-	A	24.0		-	-	-	-	-	45.0	6.0	7.50	
PHD/EC/10038/17	SANJIB KUMAK PAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	45.0	0.0	7.30	-

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MEC1051(3)	: OPTICAL FIBRE SENSOR & INSTRUMENTATION SYSTEM	-	:
MEC2001(3)	: ADVANCED DIGITAL SIGNAL PROCESSING	-	:
MEC5004(3)	: LITERATURE REVIEW	-	:
MEE1105(3)	: OPTIMIZATION IN ENGINEERING DESIGN	-	:
-	:	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer